
1. Daily Calculations Questions
1 2 3

9 + 11 = 32 – 10 = 6 x 9 =

4 x 2 = 3 x 8 = 2 + 149 = 

9 + 9 = 324 + 10 = 66 - ? = 58

10 – 2 = 45 divided by 5 = 108 divided by 12 =

12 Divided by 2 = 688 + 8 = 483 + 28 =



1. Daily Calculations Answers

1 2 3

9 + 11 = 20 32 – 10 = 22 6 x 9 = 56

4 x 2 = 8 3 x 8 = 24 2 + 149 = 151

9 + 9 = 18 324 + 10 = 334 66 - 8 = 58

10 – 2 = 8 45 divided by 5 = 9 108 divided by 12 = 9

12 Divided by 2 = 6 688 + 8 = 696 483 + 28 = 511



2. Daily Calculations Questions

1 2 3

15 + 3 = 74 + 6 = 1000 + 50 =

29 + 11 = 785 – 100 = 18 divided by 1 =

20 – 1 = 7 x 3 = 17 x 3 =

10 x 3 = 3 x 0 = 110 – 60 + 25 =

55 divided by 5 = 100 divided by 5 = 74 – 15 =



2. Daily Calculations Answers

1 2 3

15 + 3 = 18 74 + 6 = 80 1000 + 50 = 1050

29 + 11 = 40 785 – 100 = 685 18 divided by 1 = 18

20 – 1 = 19 7 x 3 = 21 17 x 3 = 51

10 x 3 = 30 3 x 0 = 0 110 – 60 + 25 = 75

55 divided by 5 = 11 100 divided by 5 = 20 74 – 15 = 59



3. Daily Calculations Questions

1 2 3

2 x 11 = 27 + 7 = 821 + 100 =

19 + 10 = 36 – 4 = 6 x 13 =

14 – 10 = 28 + 100 = 1495 – 100 =

6 – 0 = 3 x 15 = 45 divided by 3 =

8 divided by 4 = 12 divided by 3 = 24 + 24 =



3. Daily Calculations Answers

1 2 3

2 x 11 = 22 27 + 7 = 34 821 + 100 =921

19 + 10 = 29 36 – 4 = 32 6 x 13 = 78

14 – 10 = 4 28 + 100 = 128 1495 – 100 = 1395

6 – 0 = 6 3 x 15 = 45 45 divided by 3 = 15

8 divided by 4 = 2 12 divided by 3 = 4 24 + 24 = 48



4. Daily Calculations Questions

1 2 3

18 + 2 = 6 + 74 = 63 + 34 =

5 + ? = 15 785 – 100 = 12 x 14 =

? – 3 = 24 4 x 12 = 72 + 19 =

2 x 12 = 24 divided by 3 = 157 – 49 =

20 divided by 5 = 183 – 6 = 96 divided by 8 =



4. Daily Calculations Answers

1 2 3

18 + 2 = 20 6 + 74 = 80 63 + 34 = 97

5 + 10 = 15 785 – 100 = 685 12 x 14 = 168

27 – 3 = 24 4 x 12 = 48 72 + 19 = 91

2 x 12 = 24 24 divided by 3 = 8 157 – 49 = 108

20 divided by 5 = 4 183 – 6 = 177 96 divided by 8 = 12



5. Daily Calculations Questions

1 2 3

3 + 18 = 200 – 4 = 11 x 6 = 

2 x 6 = 5 x 7 = 84 - 44 =

16 divided by 4 = 470 – 10 = 92 + 101 =

2 x 0 = 38 + 8 = 56 divided by 7 =

13 + ? = 18 30 divided by 3 = 444 + 444 =



5. Daily Calculations Answers

1 2 3

3 + 18 = 21 200 – 4 = 196 11 x 6 =  66

2 x 6 = 12 5 x 7 = 35 84 - 44 = 40

16 divided by 4 = 4 470 – 10 = 480 92 + 101 = 193

2 x 0 = 0 38 + 8 = 46 56 divided by 7 = 8

13 + 5 = 18 30 divided by 3 = 10 444 + 444 = 888


